2023 (5#S) FE

FHEFEAR
—RARABE [28H]

W mEM

felRE 1 [£%105]
(1) 4<5<9 Xk
2<V5 <3
LoT a=2
a=2
(2) b=V5-a
[1] Vo2
b=+5 =2
(3) b+ =V5-2+ —
V5 =2
=J5 -2+J5 +2
= 2V5
b+ =25
—x2=2x +4>0
x2+2x —4<0
x2+2x —4=0 % & .
x=-1*/5 ~1-75 ~1445
75750
-1-JV5 <x<-1+/5
[2]
-1-45 <x<-1+45

— 127 —



2023 ($F15) FE | _pradirEAst

EH#EORRAMIZBWT, REohLAZ 0 B E
HIHOMOES EEBOMBORESIZE L VWOT
0  _

187 - 3607 =67

0 =120°

AOAA B TED=A % DT
ZOAA" =30°

£oT

[3] | AA =2-9cos30°=9V3

[4]

50 58 72 30 87

— 128 —




2023 ($F15) FE | _goaiiiEist

fEIRE 2

[1]2/ (218K [3]14m4 [4] 64

[1]

s (-1, 0)

[2]

y=—x2+2x+1

=—(x2-2x)+1

=—(x—1)2+2

Lo CTHAOMEEL (1, 2) THe 1, 2)

x Bl & DRI
—x*+2x+1=0
x?=2x—-1=0
N fFENT
x=1%£V2

x=0k0) x=1+42 xihE oz 1+Y2, 0)

[3]

[4]

R LFEBHEOMENT y=f (x) &

y=k O7 7 70¥EHTOEBIZEL DT
BT D EHIRIS 3 OHAET B 720121 !
77780 —
0< k<2 -

o1 0< k<2

— 129 —




FNRREAR

2023 (S5 £E —EASKABRE [2HE]

[1][2] %45 [3] 75 [4] 5

(1]

ZBDC=72°

ZDBA =36°

[2]

AABC «» ABCD &0

ABCD, ADABIZ

2:x=x:DC TENEAELOT
2DC=x? DA=DB=BC=x«
x2
DC=T L oT
DC=2—-x

[3]

ABCD, ADABIZ
ZEHEN=AE R DT
DA=DB=BC=x«
LoT

x2

x+7=2

x2+2x —4=0
IhzffnT
x=-1%xV5
x>0 L) x=-1+J5

AABC o0 ABCD &0
2:x=x:2-x)
x2=202-x)

-1+V5

(4]

AABCIZBWT, S ERHID

AB*+ AC?-BC?
2+-AB - AC
2+22— (—1+45 )?
2:2-2
1+V5
4

c0s36° =

— 130 —




2023 ($F15) FE | _goaiiiEist

M4 < 1 >FERLEBESEZESZLE [1]6x [2]1145

SHHE TICAD 2B L ICARHICAPBETIZL VO T

(31454
23 3 3 27

[1]

8
21
A7 3 L CHERRY 2RI
«&fzé_
3 /) o
A7 5 H TEBFT 5 HEERIE
[2] | AWHITIAD2B2MTESREICAPBTEL DT
4@(zﬁyg;zxz_:1§
3/)13 3 8l
ADMERES A TERIE
8,8 16 64
27 27 81 8l
64
81
7R

— 131 —




P PHEFEAR
2023 (5f5) £ & —EASKABRE [2HE]
IS4 < 2 > BIRLAESAEB L (118 [2]12:%
(x-1)(y—-3)=3

x, yPEHLEOT, x-1, y -3 bEHK

x-1, y-3330R/HLELEDLDT

(x-1, y=-3)=01, 3), B 1, (-1, =3), (=3, -1
kot

(x, y)=2,6), 4 4), 0 0, (-2, 2

(1]

2 6), 4 4, 0, 0, (-2, 2

3
y
ZZTax=*0, y=*0

MalZxy 23 U CEHT 5 &

L.{. :1
X

xy —3x—y=0

xy—3x—y+3=3

(x-1D(y-3=3

[1] &

(x, »)=@2, 6), 4 4, 0 0, (-2, 2
x*0, y*0 XV (x, y)=0, 0) IT4#

[2]

L-oT
(x, ¥y)=102, 6), 4, 4), (-2, 2)

2, 6), 4, 4, (=2, 2)

A

— 132 —




2023 (S#5) £ E _ﬂgEgJAﬁaﬁé&'—{gﬁaa]

iR 1 [ 3 Rix10]
A B C D E
1 2 1 3 3
F G H I J
3 2 3 4 1
e 2 [& 3R X 7]
K L M N 0
1 3 4 1 2
P Q
2 2
fHRE 3 [% 3 mx 3]
R S
INAZHIZE DR WX 4
-

— 133 —



2023 ($F15) FE | _giiiiist

e84

[U~W #£55, X 98, Y 164i]

X

e, 2B H RO S TEHEHEMICE LT & 7215%E -,
FOEVHM oo FEG) A7 IZlE N TW 5,

Y
Dl F | B W B R | T B M| T 4| g
AlT]w] s o F o | BB B K | 0| T
g | | | 7 A AN A A IR S A -
N A N = S O A S - N A I 2 I S I A = O | 1| <
Slw e % s #|w| w5 1] 2.

— 134 —



2023 (%15 & E

FHEFEAR
—RARABE [28H]

EFE BREHE
felRE 1 (%4215 %X5]
wy) (%) () (1) Ux
i Uiy B HE fifi PR
felRE 2 (%425 %X5]
(1) (0) (V) (=) (R)
3 Hw HLwH) LwD OB A A Z W)
fElRE 3 (%5 X% 2]
(1) (2)
2L F7-
IRE 4 [10x]
5 10 15
A X ) e & 7 & A X D & RE k A X
20 25 30
D &% fil AN w7 e ) n — D D L H =
35 40 45
R R % LR % o
BIRES  [104]
i "
feiRE 6 [104]
~I,/vu
MIRE7  [105]
i £

— 135 —



2023 (%#15) & E

FNRREAR

—iRARABE [2BE]

72 8 (%5 /% 2]
(A) (B)
HEEDEIR HIR AT 4

FIRE9 [104]
5 10 15

X8 R A BT % e LT B % & W )
20 25 30

£ Z Vil Iz B ESENIEN 12 [ g A n 5
35 40 45

nooz ol n b z AL B % o o E )
50 55 60

= E 0 H I E® 2l /T & %
65 70 75

I3 & 72NN S RN R S R/ N B o) 5 & it & T b
80 85 90

% |z 5 n ook w2 s T & 5 o

RIZE10 [104]

1. 4. 5

— 136 —

=7
AR




